PRACTICAL NO:-
AIM:- Implement the minimum cost spanning tree algorithm( Prim's algorithm)
 SOURCE CODE:-
//Program to implement the minimum cost Spanning Tree Prim’s Algorithm…
#include<stdio.h>                                          //Header Files.
#include<conio.h>
int a, b, u, v, n, i, j, ne=1;                               //Global Variables.
int visited[10]={0},min,mincost=0,cost[10][10];

void main( )

{
            clrscr();

printf("\n\tImplementation of Prim's algorithm\n");


printf("\nEnter the number of nodes:");


scanf("%d",&n);


printf("\nEnter the adjacency matrix:\n");


for(i=1;i<=n;i++)


for(j=1;j<=n;j++)


{



scanf("%d",&cost[i][j]);



if(cost[i][j]==0)




cost[i][j]=999;


}

visited[1]=1;


printf("\n");


while(ne < n)


{



for(i=1,min=999;i<=n;i++)



for(j=1;j<=n;j++)



if(cost[i][j]< min)



if(visited[i]!=0)



{




min=cost[i][j];




a=u=i;




b=v=j;



}

                  if(visited[u]==0 || visited[v]==0)



{




printf("\n Edge %d:(%d %d) cost:%d",ne++,a,b,min);




mincost+=min;




visited[b]=1;



}


cost[a][b]=cost[b][a]=999;


}


printf("\n Minimun cost=%d",mincost);


getch();

}
OUTPUT:-
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